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Solve for x:

A
Eé(sz—Zb+3=1oE@2)

TIOX+20 52 10-2% 2.

“1OX+2DH: T -3x
- % —&
10X t]5 = TOX
IO X *I0X
157X
7 7

What if we don't combine like terms
after distributing?
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Same answer, but an extra step!
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Solving for a Variable using Multiple Steps Practice
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How do we solve for x?

We need to get "x" ... alovw

How do we do this?
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We caﬁ Wvé#&%&fe‘b%'%nt as

long as we use the Properties of
Equality.



Gleps-fe fellow:

» Distribute (if ncedd)
e Combine Like Terms

* Properties of Equality



Choice of either side of the
Puzzle Sheet.



What Do You Call Someone Who Can't Turn Pancakes?
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Cross out the letter pair next to each correct solution. alblc
For each letter pair you DON'T cross out, write the upper (
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case letter in the box containing the lower case letter.
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Xavier is thinking of a number. Nine more than ‘S i-L B
four times the number is the same as fifteen less g. .U
than twice the number. What is Xavier's number? @, 2!
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Yvonne is thinking of a number. Fifty, decreased by ‘g d.F B!
three times the number, is the same as seven times the g- 41
number, increased by 80. What is Yvonne's number? <) GRS —15
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Zabato is thinking of a number. Three times the ‘g (a.P B
sum of the number and ten is the same as eight gﬁ 3 1
times the number. What is Zabato’s number? @ 6§
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cl Cowboys Have
5@ 0Nuch Trouble A ith 0N ath?

Solve each equation or problem and find your solution in the answer column.
Write the letter of the answer in each box that contains the exercise number.
If the answer has a ‘ shade in the box instead of writing a letter in it.
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The Sun Spa charges annual dues of $125 plus $10 per hour @ "“4%
to use the facilities. The Moon Spa charges annual dues of @ 26
$230 plus $7 per hour to use the facilities. For what number
of hours would the two spas charge the same total amount? @ 5
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Simon says: “Five times my age 4 years ago is the same @ -15
~  as 3 times my age in 2 years.” How old is Simon now? 5 @
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